R&I

1.500 [38.1]

NOTE: UNIT SHOWN AT MIDDLE OF STROKE
(1/2 OF TOTAL ROTATION)

2X ADJUSTABLE STOPS

2X STOP LOCKS

1.000 [25.4]

0.5000 [12.70]

r r
N

A4 L

5
%/

2. 000 [50.8] ——

AVAILABLE SENSOR
LOCATION

/ ©2.250 [57.2]

4X TAP #6-32 7 0.25
/ [M3x0.5 ¥ 6.4]

ON $1.250 [#31.8] BC

\4x @1/8 ¥ 0.13

[@3mm ¥ 3.2]
SF DOWEL HOLES
ON ¢0.7500 [¢19.05] BC

X DRILL & C-BORE FOR
#6-32 [M3] SHCS

A

4X TAP #6-32 ¥ O.ZSJ

[M3x0.5 ¥ 6.4]
(2) THIS SIDE &
(2) FAR SIDE

MANUFACTURING CO.

DURA-TAC
SRA-1

0.625 [15.9]
[ O o 0.281 [7.1]
°
0.375[9.5] 1.033 [26.2] @ $ \ @ *
— I
‘ K 0.415 [10.5]
Y
|
X @1/8 ¥ 0.19 2X AIR PORTS
[@3mm ¥ 6.4] TAP #10-32 [M5x0.8]
SF DOWEL HOLES
(2) THIS SIDE & e——2.250 [57.2] ———™ NOTE: MUST USE FLOW CONTROL
(2) FAR SIDE
O @)
2X $1/8 ¥ 0.19
| [B3mm ¥ 6.4]
SF DOWEL HOLES
2240[56.9] —HOH— — @ _ %,
| \zx TAP #6-32 ¥ 0.25
[M3x0.5 ¥ 6.4]
0] 0]

le—1.6250 [41.28] —

le—————2.000 [50.8] ——




